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Directions : Answer the following questions
by selecting the correct option.

1.

/10

“True politics cannot take a single
step forward unless it has first done
homage to morals.” Who said this?

(A) J. S. Mill

(B) J. S. Coleman
(C) I. Kant

(D) None of them

Who wrote the book, An Introduction
to Politics?

(A) Karl Marx

(B) Harold Lasswell
(C) Harold Laski
(D) None of them

“Conflict lies at the heart of Politics.”
Who said this?

(A) David Easton
(B) J. D. B. Miller
(C) S. L. Wasby

(D) None of them

Who among the following thinkers is
associated with the concept of
popular sovereignty?

(A) Aristotle
(B) Bodin
(C) Rousseau

(D) None of them

Who wrote the book, Politics : Who
Gets What, When, How?

(A) Hobbes

(B) David Easton
(C) Harold Lasswell
(D) None of them
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“Political Science deals with the
State and Government.” Who said
this?

(A) Gilchrist

(B) Bodin

(C) Hobbes

(D) None of them

Who among the following thinkers is
regarded as pioneer of the feminist
approach to Politics?

(A) Charles Merriam
(B) Herbert Simon
(C) Wollstonecraft
(D) None of them

Which one of the following is a
traditional approach to the study of
Politics?

(A) Philosophical approach

(B) Behavioural approach

(C) Marxist approach

(D) None of the above

Who among the following is
associated with the behavioural
approach to the study of Politics?

(A) David Easton
(B) Karl Marx
(C) John Rawls
(D) None of them

Who among the following is an
advocate of the communication
theory?

(A) Karl Deutsch

(B) Karl Marx

(C) T. Green

(D) None of them

‘Value free’ discussion in Political
Science was started by

(A) Marxists

(B) Traditionalists
(C) Behaviouralists
(D) None of them
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“Sovereignty is supreme power over
citizens and subjects unrestrained
by law.” Who said this?

(A) Jean Bodin
(B) Aristotle

(C) Garner

(D) None of them

Who among the following proclaimed
the theory of “One Nation, One
State”?

(A) Mazzini
(B) Karl Marx
(C) Zimmern

(D) None of them

The principle of “greatest good of the
greatest number” was advocated by

(A) Idealists

(B) Individualists
(C) Utilitarians
(D) None of them

The book Utopia, written by Thomas
More, was first published in

(A) 1416
(B) 1516
(C) 1716
(D) None of the above

Who said, “Over himself, over his
own body and mind, the individual
is Sovereign”?

(A) J. Bentham
(B) J. S. Mill

(C) T. Hobbes
(D) None of them
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“The State is a necessary evil” is the
view held by

(A) Socialists
(B) Marxists
(C) Individualists
(D) None of them

Who among the following was an
idealist?

(A) Bosanquet
(B) Laski

(C) Marx

(D) None of them

The concept of natural rights is
considered as an important part of

(A) Austin’s theory of Sovereignty
(B) social contract theory

(C) force theory

(D) None of the above

The economic theory of rights is
associated with

(A) Karl Marx
(B) J. Bentham
(C) J. Locke

(D) None of them

“The State is both the child and the
parents of law.” Who said this?

(A) Barker

(B) Maclver

(C) Vyshinsky
(D) None of them

“Liberty is the product of rights” is
attributed to

(A) Laski

(B) Ernest Barker
(C) Karl Marx

(D) None of them
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“Ideally law ought to have both
validity and value.” Who said this?

(A) Barker
(B) Green
(C) Henry Maine
(D) None of them

Pluralists believe in

(A) absolute sovereignty
(B) nominal sovereignty
(C) political sovereignty
(D) None of the above

The term ‘socialism’ was first used
by

(A) Hegel

(B) Marx

(C) Robert Owen

(D) None of them

Which one of the following can be
treated as scientific socialism?

(A) Democratic socialism
(B) Guild socialism
(C) Marxian socialism

(D) None of the above

Fascism appeared in
(A) Soviet Union

(B) Canada

(C) Italy

(D) None of the above

In the economic sphere, the
socialists favour

(A) multinational corporation

(B) free trade

(C) regulation of means of

production and distribution
(D) None of the above
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Democratic system of government is
based on

(A) quality rule

(B) absolute liberty
(C) majority rule

(D) None of the above

Who defined democracy as
“Government of the people, by the
people, for the people”?

(A) J. S. Mill

(B) Kennedy

(C) Abraham Lincoln
(D) None of them

The idealist revision of liberalism
was done by

(A) Laski
(B) Bernard Bosanquet
(C) Mussolini

(D) None of them

Marxian socialism emphasises on
(A) economic equality

(B) legal equality

(C) social equality

(D) None of the above

Who among the following was an
exponent of the system approach to
the study of politics?

(A) Thomas Hobbes
(B) Rousseau

(C) David Easton
(D) None of them

The concept of Universal Adult
Franchise was opposed by

(A) Hegel

(B) Rousseau

(C) J. S. Mill

(D) None of them
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Who adopted the Constitution of
India on the 26th November, 1949°?

(A) The Parliament of India
(B) The Constituent Assembly
(C) The President of India

(D) None of the above

The 42nd Amendment added two
words in the Preamble to the
Constitution of India. These are

(A) Secular and Democratic
(B) Secular and Socialist
(C) Federal and Democratic

(D) None of the above

Which of the following according to
B. R. Ambedkar, is the ‘heart and
soul of the Constitution’?

(A) Right to Freedom of Religion
(B) Right to Equality

(C) Right to
Remedies

Constitutional

(D) None of the above

Which of the following is contained
in the Concurrent List?

(A) Agriculture

(B) Police

(C) Education

(D) None of the above

Who can impose reasonable
restrictions on Fundamental Rights?

(A) The Supreme Court of India
(B) The President of India

(C) The Parliament

(D) None of the above
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By whom was the Preamble to the
Constitution of India prepared?

(A) Dr. Rajendra Prasad

(B) Pandit Jawaharlal Nehru
(C) Dr. B. R. Ambedkar

(D) None of them

Which writ is issued against an
administrative authority if any rule
is violated?

(A) Quo Warranto

(B) Mandamus

(C) Prohibition

(D) None of the above

When was the Constituent Assembly
established in India?

(A) 6th December, 1946
(B) 26th December, 1949
(C) 26th November, 1949
(D) None of the above

The Tenth Schedule has been added
to the Constitution of India by the

(A) Forty-second Amendment Act
(B) Forty-sixth Amendment Act
(C) Fifty-second Amendment Act
(D) None of the above

the
the

Which amendment to
Constitution of India gave
supremacy to the Parliament?

(A) 24th Amendment Act
(B) 42nd Amendment Act
(C) 44th Amendment Act
(D) None of the above
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Which Part of the Indian
Constitution deals with citizenship?

(A) Part-I

(B) Part-II

(C) Part-III

(D) None of the above

In the Indian Constitution, right
against exploitation has been
granted by two Articles. They are

(A) Article 14 and Article 15
(B) Article 20 and Article 21
(C) Article 23 and Article 24
(D) None of the above

The members of the Rajya Sabha are
elected for a term of

(A) three years

(B) five years

(C) six years

(D) None of the above

The President of India can nominate
(A) ten members to the Lok Sabha

(B) six members to the Rajya Sabha
(@)} to the

fourteen members

Parliament

(D) None of the above

The Vice President of India is
(A) the President of the Red Cross
(B) the Speaker of the Lok Sabha

(C) Ex-Officio Chairman of the
Rajya Sabha

(D) None of them

The President of India should be at
least

(A) forty years of age

(B) thirty years of age

(C) thirty five years of age

(D) None of the above
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We borrowed the idea of
parliamentary system of democracy
from

(A) Sweden
(B) Britain
(C) Canada
(D) None of the above

Fundamental duties were added to
the Constitution of India by the

(A) 25th Amendment
(B) 42nd Amendment
(C) 44th Amendment
(D) None of the above

The Constitution of India describes
India as

(A) confederation

(B) federation

(C) Union of States
(D) None of the above

The Indian Constitution borrowed
the idea of Directive Principles of
State Policy from the Constitution of

(A) Switzerland

(B) Ireland

(C) Canada

(D) None of the above

Which Article of the Constitution
deals with censorship?

(A) Article 19
(B) Article 22
(C) Article 32
(D) None of the above
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The Estimates Committee consists
of

(A) 25 members
(B) 30 members
(C) 35 members
(D) None of the above

Inter-State Council was established
in the year

(A) 1985
(B) 1990
(C) 1992

(D) None of the above

The Article 280 of the
Constitution deals with

Indian

(A) the Finance Commission
(B) Inter-State Council

(C) the President of India
(D) None of the above

Telangana came into existence as
the 29th State of the Indian Union
in

(A) 2012
(B) 2014
(C) 2016
(D) None of the above

The Article 114 of the Constitution
deals with

(A) Appropriation Bill
(B)
(€)

(D)

election of the President
right to property

None of the above
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Which is not included in the Union
List?

(A) Foreign Affairs
(B) Public Health

(C) Defence

(D) None of the above

When was the ‘Indian Citizenship
Act” passed by the Union
Parliament?

(A) In 1951
(B) In 1953
(C) In 1958
(D) None of the above

Which one of the following Articles
deals with the Financial Emergency?

(A) Article 350
(B) Article 352
(C) Article 360
(D) None of the above

Which Part of the Indian
Constitution deals with three-tier
Panchayati Raj system in India?

(A) Part-III

(B) Part-VI

(C) Part-IX

(D) None of the above

Who was the first Speaker of the Lok
Sabha?

(A) Ganesh Vasudev Mavalankar
(B) Hukum Singh

(C) Neelam Sanjiva Reddy

(D) None of them
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Who can appoint the
Protem in the Lok Sabha?

(A)

Speaker

The Chief Justice of Supreme
Court

(B) The President
(€)

(D)

The Prime Minister

None of them

According to Sixth Schedule, the
first election to the TTAADC was
held in

(A) 1982
(B) 1985
(C) 1995
(D) None of the above

Which Article
Parliament to
Services?

(A) Article 300
(B) Article 312
(C) Article 320
(D) None of the above

the
India

empowers
create All

The head of the
a parliamentary
government enjoys

under
of

State
system

(A) absolute powers
(B) nominal powers
(C) uncertain powers

(D) None of the above

Which one of the following countries
has Unicameral System of
Legislature?

(A) Britain

(B) USA

(C) China

(D) None of the above
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The Congress of USA consists of

(A) the House of Commons and the
House of Lords

(B) the Lok Sabha and the Rajya
Sabha

(C) the Senate and the House of
Representatives

(D) None of the above

Two major political parties in USA
are

(A) Republican and Democratic
(B) Independent and Democratic
(C) Democratic and Socialist

(D) None of the above

In which of the following countries
do the States reserve the right to
initiate amendment to the
Constitution?

(A) Britain

(B) USA

(C) India

(D) None of the above

Which of the following countries
adopted a Federal Constitution for
the first time?

(A) China
(B) India
(C) USA
(D) None of the above

Which one of the following pairs is
correct?

(A) USA and Dual citizenship
(B) India and Dual citizenship

(C) Britain and People’s Liberation
Army

(D) None of the above
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Which one of the following pairs is
not correctly matched?

(A) China and Unicameral
Legislature

(B) USA and Bicameral Legislature

(C) Britain and Unicameral
Legislature

(D) None of the above

A Senator in the USA is elected for
(A) four years
(B) five years
(C) six years

(D) None of the above

The term ‘Droit Administratif’ is
associated with the system of public
administration in

(A) USA

(B) France

(C) UK

(D) None of the above

Which Chapter of the present
Constitution of China describes the
‘General Principles™

(A) Chapter I

(B) Chapter II

(C) Chapter III

(D) None of the above

Which one of the following is
regarded as ‘a striking innovation’ of
the France political system?

(A) National Assembly

(B) Constitutional Council
(C) The President

(D) None of the above
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“Today it is not the House of
Commons which controls the
cabinet but the Cabinet which
controls the House.” Who said this?

(A) Ivor Jennings
(B) Bernard Shaw
(C) Thomas Paine

(D) None of them

According to the French
Constitution, the President of the
Republic is elected

(A) by direct universal suffrage
(B) indirectly

(C) by the High Court of Justice
(D) None of the above

The Constitution of the Fifth French
Republic came into existence on the

(A) 4th October, 1957

(B) 4th October, 1958

(C) 4th December, 1959

(D) None of the above

The tenure of the National People’s
Congress of China is

(A) two years

(B) four years

(C) five years

(D) None of the above

The PLA in China stands for
(A) People’s Liberation Arms
(B) People’s Liberation Army
(C) Public Liberation Army
(D) None of the above
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Great Britain is a
(A) Federal State
(B) Unitary State
(C) Socialist State
(D) None of the above

The first ten amendments to the
Constitution of the USA are known
as

(A) Bill of Liberty
(B) Bill of Parliament
(C) Bill of Rights
(D) None of the above

The National People’s Congress in
China meets at least

(A) once in a year
(B) twice in a year
(C) thrice in a year

(D) None of the above

The 27th Amendment to the
Constitution of America took place
in

(A) 1992
(B) 1995
(C) 2000
(D) None of the above

The French Parliament consists of
the

(A) Senate and the House of
Representatives

(B) Senate and the National
Assembly

(C) House of Lords and the House of
Commons

(D) None of the above
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Who among the following was the
first to give a theoretical orientation
to Realism?

(A) Harold Lasswell
(B) David Easton
(C) Morgenthau

(D) None of them

Who is regarded as the Father of
Non-Alignment Movement?

(A) Mahatma Gandhi
(B) David Truman
(C) Jawaharlal Nehru

(D) None of them

WTO was established in the year
(A) 1980
(B) 1985
(C) 1995

(D) None of the above

The Headquarters of ILO is at

(A) Geneva

(B) Paris

(C) Rome

(D) None of the above

National power is limited by the
element of

(A) International Law

(B) International Organization

(C) World Public Opinion

(D) All of the above
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The Headquarters of IMF is located
in

(A) Washington
(B) New York
(C) Paris

(D) None of the above

The 14th SAARC Summit was held
in New Delhi in

(A) 2005

(B) 2007

(C) 2009

(D) None of the above

The First Conference of NAM was
held at

(A) Dhaka

(B) Belgrade

(C) Delhi

(D) None of the above

Who was the Prime Minister of
India, when  Panchsheel was
adopted?

(A) Jawaharlal Nehru
(B) Lal Bahadur Shastri
(C) Morarji Desai

(D) None of them

ASEAN was formed in the year
(A) 1963

(B) 1967

(C) 1972

(D) None of the above
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Which of the following is an element
of the National Power?

(A) Geography
(B) Population
(C) Natural Resources

(D) All of the above

According to Realist theory, the
essence of International Politics is

(A) the pursuit of power
(B) morality
(C) peace

(D) None of the above

The non-permanent members of the
Security Council are elected for

(A) four years
(B) three years
(C) two years

(D) None of the above

The Article 61 of the UN Charter
deals with the composition of

(A) International Court of Justice
(B) Economic and Social Council
(C) Security Council

(D) None of the above

Who was the First Secretary General
of the UNO?

(A) Kofi Annan
(B) Trygve Lie
(C) U. Thant

(D) None of them
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The President of the International
Court of Justice is elected for a
period of

(A) one year

(B) three years

(C) five years

(D) None of the above

The Headquarters of the UNESCO is
located in

(A) London

(B) Paris

(C) Rome

(D) None of the above

Which country is not a permanent
member of the Security Council?

(A) China

(B) France

(C) Sweden

(D) None of the above

Who wrote the book, Imperialism, the
Highest Stage of Capitalism?

(A) Karl Marx
(B) V. L. Lenin
(C) F. Engels

(D) None of them

The members of the Economic and
Social Council of the UNO are
elected for a term of

(A) ten years

(B) five years

(C) three years

(D) None of the above
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Which one of the following is the
nature of imperialism?

(A) Monopoly Capitalism
(B) Parasitic Capitalism
(C) Moribund Capitalism
(D) All of the above

According to Kautilya, the important
source of the law is

(A) Dharma

(B) Vyavahara

(€) Nyaya

(D) All of the above

Sambad Kaumudi  was first
published in

(A) 1810

(B) 1819

(C) 1821

(D) None of the above

Which one of the following was
established by Raja Rammohan
Roy?

(A) Anushilan Samiti
(B) Atmiya Sabha

(C) Chitramela

(D) None of the above

Who wrote the

Humanism?

book, New

(A) Vivekananda

(B) Subhash Chandra Bose
(C) M. N. Roy

(D) None of them
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How many judges are there in the
International court of Justice and
their tenure?

(A) 12 Judges, 8 years
(B) 13 Judges, 9 years
(C) 15 Judges, 9 years
(D) None of the above

Who was the author of the book,
Annihilation of Caste?

(A) M. K. Gandhi
(B) B. R. Ambedkar
(C) M. N. Roy

(D) None of them

Who is regarded as the father of
utilitarianism?

(A) Bentham

(B) Rousseau

(C) Kant

(D) None of them

“The State is a product and
the manifestation of the irrecon-
cilability of class-antagonisms.” Who
said this?

(A) V. I. Lenin
(B) Jean Bodin
(C) J. S. Mill

(D) None of them

Who wrote the book, The Prince?
(A) Hegel

(B) Aristotle

(C) Machiavelli

(D) None of them

24

116.

117.

118.

119.

120.

TEEMoF  NRREE  SAMeTo-& PO
RO AT @32 O (W T 2

(A) % & RoRs, b 3
(B) >e & [oR=, »
(C) se &= R[OS, »
(D) TICRA (SICDE W |

Annihilation of Caste 2/%f6d @14F (F 2
(A) @, (. o

(B) . 7. Scwaa

(C) @¥. @ . I

(D) 9T (T3 7

JICF TACIINTORICH G qCel S0 Al
o7

(A) Q=N

(B)

(C) 3

(D) G078 (T3

“AF 2 TSy M-CAROR 2
T 1”7 (F e 2

(a) fe. =z, @

(B) w0l (@Ml

(C) (. . 5=

(D) dTE (FT2 7

The Prince 92[b (P fe1ccee 2
(A) et

(B) SIfGoe

(C) RISt

(D) 4T (T3



121.

122.

123.

124.

125.

/10

Who first used the term ‘State’ in
modern viewpoint?

(A) Plato
(B) Machiavelli
(C) Bodin

(D) None of them

The Greek word ‘Demos’ means

(A) elite Group

(B) public

(C) mob

(D) None of the above

Who wrote the book, The Dynamics
of Public Administration?

(A) Herbert Simon

(B) Max Weber

(C) G. E. Caiden

(D) None of them

“Coordination is the first principle of
organization.” Who said this?

(A) Mooney
(B) Herbert Simon
(C) Newman

(D) None of them

Herbert Simon’s contribution is
important in the field of

(A) communication
(B) authority
(C) decision-making

(D) None of the above
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The Study of Administration was first
published in

(A) 1887
(B) 1889
(C) 1891
(D) None of the above

Which stage of the evolution of
Public Administration is known as
the ‘Era of Challenges’™

(A) First stage

(B) Second stage

(C) Third stage

(D) None of the above

Who among the following was the
writer of The Administrative State?

(A) Karl Marx
(B) D. Waldo

(C) V. I. Lenin
(D) None of them

Who is regarded as the father of
Scientific Management Theory?

(A) Fayol

(B) Mooney

(C) F. Taylor

(D) None of them

Who among the
involved in
experiments’?

(A) Elton Mayo

following was
‘Hawthorne

(B) Herbert Simon
(C) Max Weber
(D) None of them
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Which one of the following pairs is
not correctly matched?

(A) Bureaucracy and Max Weber

(B) Behaviour Alternative Model

and Herbert Simon

(C) Prismatic Society and Woodrow
Wilson

(D) All of the above

The letter ‘B’ in POSDCORB stands
for

(A) business

(B) best

(C) budgeting

(D) None of the above

Who wrote the book, Administrative
Behaviour?

(A) Herbert Simon
(B) R. Bendix
(C) L. Fisher
(D) None of them

Who among the
coined the term
administration’?

(A) Edward Weidner
(B) U. L. Goswami
(C) D. Waldo

(D) None of them

following first
‘development

The duration of First Five-Year Plan
was

(A) 1951 to 1956
(B) 1952 to 1957
(C) 1953 to 1958
(D) None of the above
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Which Five-Year Plan
terminated one year before
scheduled period?

was
the

(A) First Five-Year Plan
(B) Third Five-Year Plan
(C) Fifth Five-Year Plan
(D) None of the above

Who elects the members of the
Committee on Estimates?

(A) The Supreme Court
(B) The Rajya Sabha
(C) The Lok Sabha

(D) None of the above

The Public Accounts
consists of

Committee

(A) 15 members
(B) 17 members
(C) 22 members
(D) None of the above

Gram Sabha consists of

(A) all the voters of the Gram
Panchayat

(B) ward members
(C) some selected persons

(D) None of the above

How many Zilla Parishads are there
in Tripura?

(A) Four

(B) Six

(C) Eight

(D) None of the above
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The TTAADC consists of
(A) 26 members

(B) 28 members

(C) 30 members

(D) None of the above

How many Panchayat Samitis are
there in Tripura?

(A) Thirty Five

(B) Forty

(C) Forty Five

(D) None of the above

The number of unreserved seats in
TTAADC is

(A) three
(B) five
(C) seven

(D) None of the above

How many nominated members are
there in a Municipal Council in
Tripura?

(A) Two members
(B) Three members
(C) Five members

(D) None of the above

The Governor of Tripura
nominate in TTAADC

can

(A) Two members
(B) Three members
(C) Five members

(D) None of the above
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Who wrote the book, Power and
Society?

(A) Lasswell and Kaplan
(B) Maclver and Page
(C) Locke and Hobbes
(D) None of them

“Control over property is control
over men.” Who said this?

(A) Maclver

(B) Hobbes

(C) Plato

(D) None of them

Which one of the following is the
agency of political socialization?

(A) Family
(B) Political Party
(C) Professional Association

(D) All of the above

“Unstratified society with real
equality of its members is a myth,
which has never been realized in the
history of mankind.” Who said this?

(A) Gisbert

(B) Sorokin

(C) Bottomore
(D) None of them

Which one of the following is an
example of social stratification?

(A) Estates system
(B) Class system
(C) Caste system
(D) All of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
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Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCHI SRCTADD FIE (WS I AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTBR A7MRACHACTD N BASIECEo7-97 RO SRHie =Iol I 7R 203 O P ZF ~A[ada 0o = 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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